STELLING VAN PYTHAGORAS
Griekse tekst met Engelse vertaling

Bron: http://farside.ph.utexas.edu/euclid/elements.pdf
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‘Ev 1ol épiloywviow tpycvols 6 dnd g v dpliiy
yenvioy Dmotenvelong mheupdc TeTpdywvov loov £oTi Tolg
amd TV TV dplfy yovioy mepleyouciiv mheupliv Te
TOHYEVOLS.

"Eotw tpiywvev dpdoyaviov o ABD dginy Eyov thv
omd BAT yoviov kéyw, 6T td dnd tiic BI tetpdywvev
ioov £oTl Tol and tév BA, AT tetpayavols

Avayeypagie yip and piv e BI tetpdywvov 10
BAET, and &8¢ wév BA, AT & HB, OI, xod &d Tol
A bmotepa v BA, TE noupddimpos fiyde 7| AA- xol
emelelybwoony of AA, ZIN xol Emel opih, 2oTw éwutépn
v Umd BAT, BAH yowév, mpde 6 ton ebisiy o BA
wol 16 Tpds ol onpeln 6 A Blo eodeim ol AT, AH ur
ETL Td alTd pépm xelusvon The £9eific ywving duolv dpiic
Tous nowbow &n eldelus dpa otiv ff TA tf AH. 6 &
anTd 6F xol f, BA Tf] AD 2ot en eldeins. wol Emel Tow
gotiv 1 Und ABI yoio 1f] Umd ZBA- dply yop exotépar
ot Tpooxeioto 7, Urd ABI- 6hr) dpa 1) Omd ABA &hy T#
umd ZBI ot Ton. xod énel Ton £otiv /) pév AB tf BL, 7,
ot ZB tf] BA, 6lo 67 ol AB, BA 6o toic ZB, BI' fow sloiv
Exatépa Exatépy: ¥ol yovia 7 Und ABA yeviy 1f Onéd ZBT
Ton faow dpa /) AA Bdos ) Z1 [Fotw] Tor, xod 16 ABA

Tolyevoy 16 ZBD tprydve gotlv ioov xal [Eont] Tol pdv
ABA tprydivou Bimhdotov 10 BA moapddmddypoppov Baon
TE ydp THY aUThv Eyouot ThHy BA xol &v toic adtois eim
napefhows Tols BA, AA- 1o 88 ZBT tpurydivou Bimhdolov
0 HB tetpirywvov Bdow 1e vip mdhw ThHv ooty Eyoum
Tiv ZB wol &v Tols adTois eloy mogoddfhows Toiz ZB, HT.
[Ti BE T&v Ioev Buthdow Tow @A fhow 2oty Toov Gpa goTi
wal 0 BA mogobhdnhdypoppov 16 HB tetpayaveg. duolag
of emleuyvupdvey v AE, BK beyydroston %ol 6 TA
napa Anhdypoppoy Toov 19 O tetpayove- Shov Gpx 1o
BAED tetpaywvov buot toic HB, BT tepayovowrs loov
gotiv. xof Eom 16 pév BAET tetpdywvov and the BI dvee
voapéy, Th 62 HB, O drnd tiv BA, AT, 1o Gpa dnd g
BI' mheupis tetpaywvov loov £oTi toig and tiv BA, AT
TAEURENV TETRAYIVOLS.

Proposition 47

In right-angled triangles, the square on the side sub-
tending the right-angle is equal to the (sum of the)
squares on the sides containing the right-angle.

Let ABC be a right-angled triangle having the angle
BACa right-angle. I say that the square on BC is equal
to the (sum of the) squares on BA and AC.

For let the square BDE(C have been described on
BC, and (the squares) B and HC on AB and AC
(respectively) [Prop. 1.46]. And let AL have been
drawn through point A parallel to either of BD or CE
[Prop. 1.31]. And let AD and F'C have been joined. And
since angles BAC and BAG are each right-angles, then
two straight-lines AC' and A®, not lying on the same
side, make the adjacent angles with some straight-line
BA, at the point A on it, (whose sum is) equal to two
right-angles. Thus, C'A is straight-on to AG [Prop. 1.14].
So, for the same (reasons), B A is also straight-on to AH.
And since angle DBC is equal to FBA, for (they are)
both right-angles, let ABC have been added to both.
Thus, the whole (angle) DB A is equal to the whole (an-
gle) FBC. And since DB is equal to BC, and FB to
BA, the two (straight-lines) DB, BA are equal to the

two (straight-lines) C'B, BF," respectively. And angle
DBA (is) equal to angle F BC'. Thus, the base AD [is]
equal to the base FC, and the triangle ABD is equal to
the triangle F BC [Prop. 1.4]. And parallelogram BL
[is] double (the area) of triangle ABD. For they have
the same base, BED, and are between the same parallels,
BD and AL [Prop. 1.41]. And square (7E is double (the
area) of triangle FBC'. For again they have the same
base, F'E, and are between the same parallels, F B and
GC [Prop. 1.41]. [And the doubles of equal things are
equal to one another.]? Thus, the parallelogram BL is
also equal to the square & B. So, similarly, AF and BK
being joined, the parallelogram 'L can be shown (to
be) equal to the square HC. Thus, the whole square
BDEC is equal to the {sum of the) two squares G'B and
HC. And the square BDEC is described on B, and
the (squares) B and HC on BA and AC (respectively).
Thus, the square on the side BC is equal to the (sum of
the) squares on the sides BA and AC.
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Ev dpa tolc dptoyoviog tpry@vols o amd Tig T
detfy yeviovy Unotewvolons theupic Tetpdywvoy ioov £oTh
Tolg dmd 16V T opthv [ywviay] nepieyouciv Theugtiv Te-
Tpaywvols: Grep £oel BelZo.
t The Greek text has “F B, BC”, which is obviously a mistake.

t This is an additional common notion.

D L
Thus, in right-angled triangles, the square on the

side subtending the right-angle is equal to the (sum o
the) squares on the sides surrounding the right-[angle]

(Which is) the very thing it was required to show.
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